0060060000660

313272691 101 - 005

Montage- und Betriebsanleitung
Navod k montazi a provozu
Montage- og driftsvejledning
Instrucciones de montaje y de servicio
Notice de montage et d’utilisation
Asennus- ja kayttbéohjeet

Installation and Operating Instructions
Odnyieg TotroUETNONG KAl AEITOUPYIOG
Istruzioni di montaggio e per l'uso
Monterings- og bruksanvisning
Montage- en gebruikshandleiding

Monterings- och bruksanvisning

Instrukcja montazu i eksploatacji

AepROVAL NO | [
@ TYPE: [ D-VALUE: [D
parTno ] verr oo
COUPLING CLASS
CCCCCC
WESTFALIA

WESTFALIA

Daimler Chrysler Sprinter [B.

VW Crafter [R5k - 04/2006 1

1


http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

Lieferumfang der
Anhangevorrichtung

@ Objem dodani tazného zaftizeni

Anhengertreekkets
leveringsomfang

G Volumen de suministro del enganche

Piéces comprises dans la fourniture
de I'attelage

@ Vetokoukun toimituksen sisalto
@ Scope of delivery of towing hitch

MepIEXOUEVO TOU TTOKETOU TNG
o@aAIPIKNG KEPAANG {eUENG ME
oTAPIYHA

o Dotazione del gancio di traino
o Leveringsomfang for tilhengerfestet
@ Leveringsomvang trekhaak

e Dragkrokens leveransspecifikation

Zakres dostawy haka
holowniczego

313 273
1 1x
2 1x
3| 1Ix
4 4x
5 8x G= M12x1,5x100 (10.9)
6| 6x $®  M12x1,5x40 (8.8)
71 2x & M10x50 (10.9)
8| 2x G  M10x40 (10.9)
9 | 10x 13x24x2,5
10 | 6x 10,5x20x2
1 | 12x ®  M12x1,5(10)
12 | 2x ®  M10(10)
N B

——



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

GZxpexel

0SXOIN_ .
b, G0CE O ZX0ZX5 0l oJm;xm:\,_
,\/\,/ \@\%
b s IxzIiN @\\\A_/,/
G'TXYTXEL 7 o~
i \%\\ﬁ S
s ‘ : - - XGLX
G'TxXyTXeL GUXZLIN Ay 00LXG LXZLIN
& GTXPTXEL NG
0bXG LXZLIN—SF R A@\ 7 v
GIXZLN Z
€lC CLE
_%
G'LXZLIN omxo:\,_mxomxmé G'ZXpTXEL
ZX02X5‘0l ObXS‘LXZLIN
00LXSG LXZLIN — O 7
[o s \m,\a@
L~
<] g
G'LXZLIN W\ L |

G'TXPTXE r/)

G G'Zxyexel e t=g o
ObXg'LXZLIN—TF N L

G UIXZILIN

(XA %>

>l
001XG' LXZLIN — T e


http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

D- Der Freiraum nach Anhang VII, Abbildung 30 der Richtlinie 94/20/EG ist zu gewéhrleisten.
DK -  Frirummet skal overholdes iht. bilag VII, fig. 30 i direktiv 94/20/EF.
CZ - Volny prostor ve smyslu Ptilohy VII, obr. 30 Smérnice &. 94/20/EG musi byt zaru¢en.

E- Debe garantizarse el espacio libre, conforme al anexo VI, figura 30 de la directiva comunitaria CE/94/20.
F- La zone de dégagement doit étre garantie conformément a I'annexe VI, illustration 30 de la directive 94/
20/CE.

FIN -  Vapaatila on taattava direktiivin 94/20/EY liitteen VII, kuvan 30 mukaisesti.
GB -  The clearance specified in appendix VI, diagram 30 of guideline 94/20/EG must be guaranteed.
GR- T[pémerva e€ac@alideTal 0 EAeUBEPOG XWPog aUNPwva pe To TrapapTtnua VI, eikdva 30 Tng Odnyiag 94/

20/EOK.

H - Biztositani kell a 94/20/EK iranyelv szerinti, VII. szamu fliggelék 30. abraban jeldlt szabad teret.

| - Deve essere garantito lo spazio libero secondo l'allegato VII, figura 30 della direttiva 94/20/CE.

N - Frirommet etter tillegg VI, avbilding 30 i direktiv 94/20/EEC skal overholdes.

NL - De tussenruimte conform supplement VII, afbeelding 30 van de richtlijn 94/20/EG moet in acht worden
genomen.

P - Garantir a zona livre, conforme Anexo VI, grafico 30 da Norma 94/20/CE.

PL -  Nalezy zagwarantowac przestrzen swobodng wedtug zatgcznika VI, ilustracja 30 wytycznej 94/20/EG .

S - Spelrummet enligt bilaga VI, figur 30 i riktlinje 94/20/EG skall garanteras.

SLO - Zagotoviti zracnost po priklopu VII, slika 30, smernice 94/20/EG .
SK - Volny priestor v zmysle Prilohy VII, obr. 30 Smernice ¢. 94/20/EG musi byt’ zaru€eny.
TR- 94/20/EG Yobnetmelidi, Ek VII, Resim 30'da belirtilen serbest alan byrakylmalydyr.

m

\

3
0 o N
S 29 k=) 9]
S S £ © o a
o o ® w =4 =]
._Q_ C._ E
N ) [e R = ©
£ = ©F 53> 8 £ T
F To35c 2O 2 = N
N=g5 & <CTo00T -2 5 o
P 9039% Xgpo B3FZ >
%.Q.EEW;{ gg% gg'& 2
= c 0
S ] - =2 Q058 ©° go.g%0 38
= e 098253 '—:OE%>O<D = £ 8
= min. 65 S8EO0gELTRLESETSECNGR
= A X 0O = 0O N = c = O 3
= o s =P gLol8S s eED
A - DS ELDDNS T LOBESTT s - 5
\ *—'H—c'os—mq)@.-o>-o—:q_):‘;"—a—a>N._.xo
} EH~wmm=>~o“-ammEOO®®ﬂS
-1 8 PENESTBOED s — S22 C =
T T PBEECESEXTOETOSSERE
~ ol N ° ®>quC)Ew—3-GJQ_EfEQ-C4—-Q—:JE_
m 1 ? 0% 3 T=E8w0 PEZ LTI 220
gl m o EE;:_ED_CEG)OB;_B’(NJ';UJE.‘:
g § 082823280028 N2E S E
< /)<4 2pw0 o QD288 Q0 T
o = P 7 o >S9
= pr 8 95308 S>EEQDRBA553
T X Vo =S S g8 20 X c
A 1 S=358az285ecldg 233
SE0020g0o0ESTVOT 520
o <o N (&) S c @ - = OE>~4—'OO‘
) Ln._'O._C:)O_U:m:_'O:I—' N_o__Q_
b M O OE 002 @ >0V =20 8T ®©
ok o>00ade>csaoa>00a>Sadk
et
1
o ZII.' ' ! O'.
' X N o Z oK ;! 1 XY
[alya) LuLuwLoorT_ =2 o nunun k-
\::
P
WD A
&.—

LN
~
=)

=
LN,
~
=

=

max. 30° |



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

DK -
Cz -

FIN -

GB -

GR -

SLO -

SK -

TR-

Der Handhebel Freiraum von Bolzenkupplungen nach Anhang VI, Abbildung 33 der Richtlinie
94/20/EG ist zu gewdhrleisten.

Frirummet for boltkoblingernes handtag skal overholdes iht. bilag VII, fig. 33 i direktiv 94/20/EF.
Volny prostor ru€ni paky Cepovych spojek ve smyslu Prilohy VII, obr. 33 Smérnice C.
94/20/EG musi byt zarucen.

Debe garantizarse el espacio libre para la palanca manual en los enganches por pernos,
conforme al anexo VII, figura 33 de la directiva comunitaria CE/94/20.

La zone de dégagement du levier de I'axe d'attelage doit étre garantie conformément a
I'annexe VII, illustration 33 de la directive 94/20/CE.

Vetoaisakytkimien k&sivivun vapaa tila on taattava direktiivin 94/20/EY liitteen VII, kuvan 33
mukaisesti.

The hand lever clearance of bolt couplings specified in appendix VII, diagram 33 of guideline
94/20/EG must be guaranteed.

Mpétel va e€aoc@alifeTal 0 EAEUBEPOG XWPOGS YIA TOV XEIPOPOXAO CUOTNUATWY (EUENG WE TTEIPO
ouppwva pe 1o TTapdptnua VI, eikdéva 33 1ng Odnyiag 94/20/EOK.

Biztositani kell a csapos tengelykapcsolok kézikarjanak szabad terét a 94/20/EK
iranyelv VII. fuggelékének 33. szamu abraja szerint.

Per la leva a mano deve essere garantito lo spazio libero dai giunti a pioli secondo Il'allegato VI,
figura 33 della direttiva 94/20/CE.

Frirommet for boltkoplingers handtak etter tillegg VII, avbilding 33 i direktiv 94/20/EEC skal
overholdes.

De hendeltussenruimte van boutkoppeling volgens supplement VII, afbeelding 33 van de
richtlijn 94/20/EG moet in acht worden genomen.

Garantir as zonas livres para alavancas de acoplamentos por pinos, conforme Anexo VII,
grafico 33 da Norma 94/20/CE.

Nalezy zagwarantowa¢ swobodng przestrzen dzwigni recznej sprzegiet palcowych
wedtug zatgcznika VI, ilustracja 33 wytycznej 94/20/EG .

Spelrummet for bultkopplingens mandverspak enligt bilaga VI, figur 33 i riktlinje 94/20/EG skall
garanteras.

Zagotoviti zratnost ro€nega vzvoda sklopk sornikov, —po priklopu VI, slika 33,
smernice 94/20/EG.

Volny priestor ru€nej paky ¢apovych spojek v zmysle Prilohy VII, obr. 33 Smernice C.
94/20/EG musi byt zaruc€eny.

Pimli kavramalar icin 94/20/EG Yonetmelidi, EK VII, Resim 33'te belirtilen el kolu serbest
alany byrakylmalydyr.



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

@ TOW| N g h |tC h Without electrical set

Manufacturer: WESTFALIA-AUTOMOTIVE GmbH Westfalia order no.: 313 272
313 273

Approval no. as per Guideline 94/20/EC: e13 00-2235, 2236

Class: F Model: 313 272, 313 273

Technical data: Maximum D-value: 20,2 kN

Maximum nose weight: 150 kg

Area of application:
Vehicle manufacturer: Daimler Chrysler /| VW

Model: Sprinter [B.0k (411-524) / Crafter L0k, 04/2006 [{(LD)
Box-type delivery vans/estate cars

Model designation: Daimler Chrysler: wDB?????, WDF?????
VW: 2EC?, 2EKE?, 2FJE?, 2EO
VW model code UK:  2E, 2F

This towing device may be fitted with towing hitches (A50-X class, 329059) and bolt couplings
(e.g., C50 class) - also in connection with removable plate systems.

The coupling point clearance of a towing hitch or.a bolt coupling must be a minimum of 75 mm
and a maximum of 154 mm from the rear of the screw-down area. The clearance from the upper
mounting points "d" must be a maximum of 19 mm above and 28 mm below.

@)z

313 273 - 4325mm (R3 + R3L)

313 272 - 3665mm (R2)

20


http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

General information:

The vehicle manufacturer’s specifications regarding trailer load and nose weight are deci-
sive for driving, and the values specified for the towing hitch must not be exceeded.

_trailer load [kg] x vehicle total weight [kg] « 9,81

Formula for D-value: s d [ka] + vehicle total weight [kg] ~ 1000

=D [kN]
The towed-vehicle assembly may only be used for towing trailers when fitted with a towing hitch or
an automatic bolt coupling and a matching towbar ball receptacle or towbar eye on the trailer. Only
trailers which have been approved may be used with a towing hitch.

Any use other than that specified is prohibited. Driving with a trailer must be adapted to the road
conditions. The vehicle’s handling is affected when a trailer is being towed. Follow the vehicle
manufacturer’sinstructions.

The fixing points specified as standard must be observed.
National guidelines concerning official approval of auxiliaries must be observed.
These installation and operating instructions must be enclosed with the vehicle papers.

Installation instructions:

The towing hitch is a safety component and must only be installed by qualified personnel.

Any alteration or conversion to the towing hitch is prohibited, and would lead to cancellation of
design certification.

Remove insulating compound and underseal from vehicle (if present) in the area of the mat-
ing surfaces of the towing hitch. Seal any bare bodywork and bores with anti-corrosive paint.

Operating instructions:

Again tighten all securing bolts of the towing hitch after approx. 1000 trailer km, observing speci-
fied tightening torques.

The towing hitch must be kept clean and greased. However, if a stabilisation device, e.g.
Westfalia “SSK”, is used, the towing hitch must be free from grease. Follow the instructions in
the relevant operating instructions.

As soon as the towing hitch diameter is 49.0 mm or less at any point, it must no longer be used
for safety reasons.

After the towing hitch is fitted, the empty weight of the vehicle increases by 18 kg.

21


http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

313 272

35


http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

36

M12x1,5x40

A M12x1,5x40 = 65Nm

13x24x2,5

6

M12 @\(1

13x24x2,5

A M12x1,5x40 = 65Nm

13x24x2,5
M12x1,5x40



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

P

M12x1,5x100 = 95Nm

AN

M12x1,5x100 = 95Nm

10,5x20x2

37


http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

38



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

313 273

39


http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

40

&)

3

"
ol Y A
\ 13x24x2.5 o
M12x1,5x40

A M12x1,5x40 = 65Nm

13x24x2,5

M12 @\(1

13x24x2,5

A M12x1,5x40 = 65Nm

13x24x2,5
M12x1,5x40



http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

NG

L\zm

A M12x1,5x100 = 95Nm

10,5x20x2

41


http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/

42


http://xn--80aumecw.xn--p1ai/
http://xn--80aumecw.xn--p1ai/



